Redox Reactions
Topic 6 Exercise 1

1. a)
loss of electrons

b)
gain of electrons

c)
electron acceptor

d)
electron donor

e)
a reaction in which electrons are transferred
2.
a) +4

b) -2

c) +4

d) +6

e) +5


f) +3

g) 0

h) +2

i) +1

j) +5
k) +1

l) -1

m) -1

n) +2

o) +5
p) +7

q) +2

r) +8/3

s) +2.5

t) +2

3.
a)
PbO2 + 4H+ + 2e ( Pb2+ + 2H2O



2Cl- ( Cl2 + 2e



PbO2 + 4H+ + 2Cl- ( Pb2+ + 2Cl- + 2H2O


b)
2S2O32- ( S4O62- + 2e



I2 + 2e ( 2I-


2S2O32- + I2 ( S4O62- + 2I-

c)
2IO3- + 12H+ + 10e ( I2 + 6H2O



2I- ( I2 + 2e



IO3- + 6H+ + 5I- ( 3I2 + 3H2O


d)
ClO- + 2H2O ( ClO3-+ 4H+ + 4e


ClO- + 2H+ + 2e ( Cl- + H2O



3ClO- ( 2Cl- + ClO3-

e)
H2SO4 + 2H+ + 2e ( SO2 + 2H2O



2Br- ( Br2 + 2e



H2SO4 + 2H+ + 2Br- ( SO2 + Br2 + 2H2O


f)
H2SO4 + 6H+ + 6e ( S + 4H2O



2I- ( I2 + 2e



H2SO4 + 6H+ + 6I- ( S + 3I2 + 4H2O


g)
H2SO4 + 8H+ + 8e ( H2S + 4H2O



2I- ( I2 + 2e



H2SO4 + 8H+ + 8I- ( H2S + 4I2 + 4H2O


h)
ClO- + 2H+ + 2e ( Cl- + H2O



2I- ( I2 + 2e



ClO- + 2H+ + 2I- ( Cl- + H2O + I2

i)
PbO2 + 4H+ + 2e ( Pb2+ + 2H2O



SO32- + H2O ( SO42- + 2H+ + 2e



PbO2 + 2H+ + SO32- ( Pb2+ + SO42- + H2O
4.


	
	Equation
	Oxidising

agent
	Reducing

agent
	

	
	a)
	PbO2
	Cl-
	

	
	b)
	I2
	S2O32-
	

	
	c)
	IO3-
	I-
	

	
	d)
	ClO-
	ClO-
	

	
	e)
	H2SO4
	Br-
	

	
	f)
	H2SO4
	I-
	

	
	g)
	H2SO4
	I-
	

	
	h)
	ClO-
	I-
	

	
	i)
	PbO2
	SO32-
	


5.
only reaction (d) is a disproportionation reaction
